HSSC CET Group D Question Paper with Answer Key of 21 Oct 2023 1st Shift

T, I 741 3TN - I 9erE] w1 ey R F
FETEEE?

(1) v=E=
(2) TEm

(3) Fifem

[4)  F=

(5) I 7€ = 9 |
A &1 o 5 = we T2
(1) 1930

2) 1950

(3) 1947

4) 1951

(5) I T EE

I 2011 F ATAN, A =5 @ ¥
! 18T .
(1) 730 e

(2) 78,0
(3] 88.0

(4) 83.0
(5) 39 Wi T ama
9= # e 0
(1) 6371f%FH,

(2) 8371 f&d,

(3) 9371 fFqt,

@ 2371 &4

5) I e

(2) = e

(3)  =E mEza

(4) =it

() I T T ammy
LEGE]

(1) ¥, Terirremr
@) TR T g
(3 = e

(4) e e e

(5) 395 & 9y

Appam, Puttu and Idiyappam - food items,
belong to which State of India ?

(1) Punjab
(2) Gujarat
(3) Orissa
(4) Kerala

(5) Not Attempted

Which year did India attain freedom ?
(1) 1930

(2) 1950
(3) 1947
(4) 1951

(3) Not Attempted

fas per Census 2011, the literacy rate in Indig
is !

(1} 73.0

() 78.0
(3) 88.0
(4) 83.0

(3) Not Attempted

What is the radius of the earth ?

(1) 6371 km
(2) 8371 km
(3] 9371 km
(4 2371 km

(5] Net Attem pted

Who is the
British Indi:P;h"'" of the book - A History of

(1) James Mill

(2)  Warren Hastings
(3)  Lora Mountbatten
4)  Lorg Curzon

(5]  Not Attempted

Who served gg
Genera] ?

) C. Rajagopatachari

@) Sardar Vallabhbhai Patel
(3} Maulana Azag

(4) Jawahar Lal Nehru

(S)  Not Attempted

free India’s first Governor-
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7. CE'RTE % .
(1) R % 3
(2) FE e
(3) AT
(4) FEIETm
(5) 9 FE T =y
8. ﬂﬂﬂl4ﬁﬂﬁﬁ§q‘ﬁwmrww%:
(1) %ﬁﬁﬁﬁfmmﬁmﬁaﬂfﬁ
G TR, T ae Fad wem w5
(2) Al S wm w s S s
TR ed 2 T a1 Wit e
(3) TV S it et qon o e
Fard yer e |
(4) dfea = =3 =1 foen wem w0
(5) IR W =
9, fava wafarw feay o s &
() 5%
2 770
(3) 59w
(4) 7 e
(5) IR R I = |
10. et & IR 3R feor wa i Fed €
(1) &=
(2) TR
@) FmHsd
(4) Sy
(5) SO El I =ed |
11, T (MAA) SriFR F1 fawm w1 E?
(1) ﬁmq@ﬂﬂ{“ﬂﬁmm)
@) i R (R g )
@) e 3 i v wai e (g
Trei SR TS )
6) SR & |

7. ‘CE’'refersto:
(1)  Coast of Egypt

(2)  Common Estimate
(3) Common Era
(4) CasualEra

(5)  Not Attempted

8. ‘Mission Indradhanush’; launched
2014 ig:

(1)

in the year

To provide information, commodities
and service to meet the diverse need of
adolescents,

(2)

To cover children who have been

partially or not vaccinated during
routine immunisation rounds,

(3) To provide affordable and quality
healthcare to the rural population.

(4) To provide education to the deprived
children.

(5) Not Attempted

9. World Environment Day is celebrated on :

(1) 5™ June

(2) 7 June

(3) 5t July

(4) 7 July

(5) Not Attempted

10. The earth is surrounded by a layer of gases

called :

(1) Ozone

2) Environment
(3) Atmosphere
(4) Climate

(5) Not Attempted

' me ?
What is the full form of MAA’ program

. 1) Mother’s Absolute ﬁﬂecttlrlc:;
I[2] Mother’s Absolute Attentl
[[3} Mother And Adolesc;r:;ﬂng o
| hygien€
4) Menstrua
b girls
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12. ‘a1 Fr=fatea § @ frmew o w0 8, 8 o

T e w2
(1) ==
(2) =951
(3) sy
(4) S
(5) S A

13. s et favafemea wef smfom &2
1) o
(2) =
(3) fee=it
4) wETS
(5) IR < =R |

14, frefafea 3 @ ST Frws ai wEE
feremerdi ¥ & foen T forn siaria A= T
TN Vo weH foman ST € ?
(1) Hieen FEEN
(2) WA T
(3)  SE a=eh, 9 gee
(4) w4 fian sh@Em
(5) e TE < =ed |

15. ‘afig’ v wRE ¥ fore v H T w6 g
(1) @Al
(2) deE
(3) IHH
4
(5) IR @ o =ed |

16. af el =af 1 3o 1 O 0 H G, A I

Sfifer &1 7€ Wl | 9€ Wikl weeldi € :

12,

13.

14.

15.

16.

‘Lugda’ is a kind of which on€ ;r-f the followip,
that is worn in Chhattisgarh :

(1) Saree

(2) Dupatta

(3) Ornament

(4) Footwear

(5) Not Attempted

Where is Jamia [slamia University situated

(1) Aligarh

(2) Bhopal

(3) Delhi

(4) Lucknow

(5) Not Attempted

Which one of the following refers to the
programme introduced in all governmen
elementary schools to provide children with

cooked lunch ?

(1) Mahila Samakhya

(2) Mid-day meal

(3) Beti Bachao, Beti Padhao
(4) Sarv Shiksha Abhiyan
(5) Not Attempted

‘Bihu' festival is celebrated in which Indiar
State ?

(1) Karnataka

(2) Punjab

(3) Uttar Pradesh
(4) Assam

(5) Not Attempted

If a person’s kidney stops working., TH
cannot survive unless their blood is filter
by artificial kidney. This process is called

1) R (1) Excretion
(2) S (2) Dialysis
(3) WA (3) Transpiration
(4) e (4) Elimination
(5) I TR N 9med | (5) Not Attempted
NATH/G1 3% @14 % fe7e 22 / SPACE FOR ROUGH WORK ~pa0


Guest
Rectangle


o
(1) N MR | 17,

Which of the f s
(2) Horm habitag » 1 iR Is et terrestria)
(3) =uigs E;: itk
: Degery
(4) HEF i
. - ‘Tﬁ? (3) Rainforest
mﬁ | (4) Grﬂﬂslaml
(5)

Nﬂt f‘.l‘jcmp'ed

[I] s 1B, The S1 unit of mass ig
2 Teeium (1) gram
(3 USE (2)  kilogram
(4) 3m=4 (3)  pound
(5) S TE A 1, gunce
(5)  Not Attempted
9. T TISH HAAH 901 H Y= HAviet 1 3f w ey ,
1 W SR wffars ¥ A e o @ 2 19 A boy is standing at a distance of 50 cm from
' the plane mirror. What will be the di
distance
(1) 100 TR between the mirror and the image ?
(2) 25 HaHET : (1) 100ecm
(3) 50 FHIHR=x (2) 25cm
(4) 75 HAE 3 50em
(5) S T & = | | e
(5] Not Attemnpted
20. #1 wiwar § o9 & Imo 2g G
e 3 AT e EiGl| 3 20. No medium is required for transfer of heat by
the processof ____ .
(1) fafeon (1) Radiation
(2) =T (2) Conduction
(3) Heaw (3] Convection
(4) T (4) Transpiration
(5) =R el oA A | (5) Not Attempted
21 GE | rel 9 B el f 21, __ and _______ are water borne
%I diseases,
= 1 rphoid and Meningitis
(1) eEwEE SR AR Sy

(2) Beri-Beri and Dysentery

(3)  Scurvy and Cholera

(2)  sr-ed et

) 3% .:ﬁn %?-m (4)  Polio and Rickets
) i (5) Not Attempted
(5) S el & e | s Page 5
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2. Tretfafen # gifem =

22, Match the following :
M () m o
weak stem
(A) TEE= (1) mﬁh’(m (A) Lamina (1) ed
) (11) Owvary
B v () sz B Eet m) Leaf
© T (1) (5 S [IV} Flower
(D) fererdt wen (v) = (D) ‘Crecper :
(), (D)-(0)
(1) (A)-(), (B)-aV), (€)-(1), D)) Lo IBI_I;;L[::?;::,'{DJ—HW
() (A)-(m), (B)-(1), (C)-(1), (D)-(V) B L (B]F[m' ©)-am, (-
3)  (A-aV), (B)-(1), (©)-01), (D}-() @ @ B v,
@) (A)-), (B)-(II, (O)-(V), O)-0) @ -, @00
(5) T (5) NotAttempted
beri-b
23. o sl 3 RO -3 @ et 31 | 23, Deficiency of — CRILERR, R
disease.
() faaimm A (1) Vitamin A
(2) TEaf Bl (2) Vitamin Bl
(3) T C (3) Vitamin C
(4) fe=fFD (4) Vitamin D
(5) AR o = | (5) Not Attempted
24, Tt & @ 5 et B EAREITEE? | ) i of the following is not the characterist
(1) e () i sarer of fish ?
(2) fir =t Iufegfa (1) Presence of fins
(3) e T F1 e A AR IWR (2) Presence of gills
(4) TREFETG gt gan d v de = (3) Long backbone with cylindrical body
MFER BRI BT (4) Head and tail smaller than the midd
portion of the bod
(5) ST ARl o = | ¥
(5) Not Attempted
25, EEEfeH ‘A’ FHN T FRUE S g
" : 25. Hepatitis ‘A’ is caused by :
J 1 (1) Bacteria
(2) famm () Virus
(3) waH (3) Fungi
(4) WSS (4) Protozoa
(5) I Rl ol =& | (5) Not Attempted
VNATH/G1 3% Tl o TeT0 2T / SPACE FOR ROUGH WORK g
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26.

27.

28.

YFHaE _ dvwmen §
(1) e

(2) vamEHfeE

(3) TEwS

(4) ==

(5) W 3 ==

Trfefas o @ foas saes o 9 =1 v fFan
S ?

(1) =

(2) e

(3) HewrEa

(4) eSS o
(5) SR T M e

T4 2016 W YA TR A R T
Iy T & fods aravia sfaa afea o e

7= fFn
(1) S=Een
(2) 3gH
(3) =D uNE
(4) TR
(5) IO TR oA = |
=Y - 14 fed 73 fore smagdl Fi W - I H e g
T Hendl o gHfAT wifa :

Wy -1 Y-
(A)  forem A m
B) ‘&’ feufa § fm= (11) @
(€) faega 9 () —e—
D) &= vy —f+
wé fawea 9

(1) (A)-(1), (B)-(11), (C)-(T1D), (D)-(IV)
2)  (A)-(m), (B)-(0), (C)-(), (B)-(IV)
(3)  (A)-(IV), (B)-(1), (C)-(1), (D)-(IT)
@ (A)-(1v), (B)-(1), (C)-(I), (D)-T)
(5) SR TE & = |

26.

27.

28.

29.

Earthworms breathe through their

(1} Lungs

(2) Tracheae
(3) Gills

(4] Skin

(5)  Not Attempted

Yeast is used in the production of :
(1) Sugar

(2)  Oxygen

(3) Alcohol

(4)  Hydrochloric Acid

(3) Not Attempted

In the year 2016, the Government of India has
initiated a mission called under

which a proper Sewage disposal have been
started.

(1) Ujjwala

(2) Udaan

(3) Swachh Bharat
(4) Namami Gange
(5) Not Attempted

Match electrical component given in

Column - I with the symbol given in
Column - IT:
Column - I Column-1II
(A) Electric cell (I) — ]
(B) Switch in ‘ON’ (1) _@
position
(C)  Electric Bulb () ————
(D) Battery v —=

Choose the correct option :

(1) (A)-), (B)-(ID), (C)-(II), (D)-(IV)
@ (&), B)-0), (C)-1), (D)-(IV)
(3)  (A)-(IV), (B)-(l). (C)-(11), (D)-(111)
(4)  (A)-(V), (B)-(IT), (C)-(11), (D)-(1)
(5) Not Attempted

e
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30. WG 1 9% o F wEww ¥ el g @

e TAE IO S A E 2
(1) =T

(2)  wfalean s

(3)

(4)  FeEm
(5) SO A

Y9 591 A, B, C, D 741 E 39 #1 #A §g HiF TH
tfe § w2 A smavas 7 ¥ Sl ww F 2
o prdeE st a, Fag g A'dR D F
AT R FE T RRE?

(1) E

2) C

3 B

4 A

(5) I FE & e |

31.

32, i sl a1eRil % WE 1 reHafiya w9 § foar T
©1 Hensll & 39 WA #1999 F faes aan
&7l il St 3 W uH reqof w7 |

£ B K T 0 E
I, % . 8 o 8 6

(1) 3,51,4,2,6 gaoc,'fﬁ?’
2 21,5364 et 0¥ ZpA
@ 251,364 ?9'5'”5?{-/‘0
4 41,5236 X7

(5) IO TR g = |

3. MQ, REFFFPHRWEE @ Q, R A fFa

30. The property of metals by which they can b

31.

32.

beaten into thin sheets is called :
(1) Conductivity

(2) Reactivity

(3) Ductility

(4) Malleability

(5] Not Attempted

Five children A, B, C, D and E are standing in
a row, facing North but not necessarily in the
same order. ‘C’is to the right of ‘E’ and to the
left of *A’. ‘A’ and D’ have one child between
them. Who 1s in the middle of the row ?

(1)
(2)
(3)
(4)
(S) Not Attempted

E
C
B
A

A set of English letters is given below in a
jumbled order. Select the combination of
numbers so that the letters arranged
accordingly will form a meaningful word.

C P K T O E
1 2 3 4 2 6

(1) 3,514,256
2 2,1,5,3,6,4
3) 2,51,3,6,4
4 4,1,523,6
(5) Not Attempted

TFR Hafaa & ? 33. I‘f;):?‘;}i:t:go:;g:;f son of R's son, then how is

1 = (1) Son

(2) =/ (2) Uncle

(3 9= (3) Grandson

(4) == WE/=E (4) Cousin

(5) SWE AE & = | (S) Not Attempted B
Page §
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34, Az fdt 96 # 25 700 %1 TFER 8, @ 99 WA

34.

If 25t of August in a year is Thursday, then

#ﬂi 51 ﬂﬂﬁﬂﬂﬁfﬁ ? how many Tuesdays will be there in that
1y 3 month ?
(2) 5 (1 3
3 4 @ 5
4) © (3) 4
(5) SO < = | 4 6
(5 Not Attempted
35, 2 =YA R IES e 2 fred 1 s feu ) o
T Yl HI T A gQ = 9 W 9 a2 4
: 35. Two stat t i
firg @ @1 7 oW B E, Fa = eE-EAa concluasg?mesn ? a;zdglvl?. E;?:;?n? ?;:2
Foerd 50 U T & STHR 9L q4uTa w9 3 fawea statements to be true even if they seem to be
1 };mﬂ ¥7 . at variance from the commonly known facts,
decide which of the conclusions logically
HAA : follow / follows from the given statements.
gt IR FA B | Statements :
5O @ HAEAF B | All animals are dogs.
forend - Some dogs are dangerous.
L i SE ST o
. L All animals are dangerous.
L  $9°Fa SR E|
II. Some dogs are animals.
(1) Hreet forepd 1 Freeran €1
3 (1} Only Conclusion I follows.
e fAeRy 11 e & |
2 (2) Only Conclusion 11 follows.
Iﬂﬁid I-:lEI'T-H'.:"l |
) SUE R § (3) Both Conclusions I and II follow.
() @ Fremd 1SR & 11 et &1 (4)  Neither Conclusion I nor II follows.
(5) I e & = | (5) Not Attempted
36. 5w &R fepeirsitel ey Eﬁ #% = E 36. Kilometer is related to Distance in the same
feped) Tafa 7 way as Newton is related to
(1) =T 'ﬂ‘ (1) Acceleration
(2) TEAH (2) Density
: (4) Momentum
4) gamdH
[} 5) Not Attempted
(5) ST < =Ted | = : Page 9
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7. ST S 1 I g 3 i
11,12, 16, 25, 41, 7
1) 65
(2) 66
@) 69
@ 72

(5) IR TR

38. foum = === wifau .

(1) 3=
2) TR

(CI LS
(4) T

(5) W E M AR

=g ©F fAf=a Fewm § ‘COVET %1 FRYHW’
fom = ¥, @ = v § HIDE' | == fomn
= ?

(1) KIEF

(2) KLGH

(3) KLEI

(4) KGEF

(5) O Tl <1 =red |

39.

40. TF = IR fem F e =% we ¥ 9% A
fem # 135° 4e w1 8, 39% =% efeorad faun 5
90° HE Wl 1 4 35 U fra fam A &2

37. Find the next term of the series :

11,12, 16,96, 41,2
(1) 65
2) 66
(3) 69
4 72

(5) Not Attempted

38. Find the odd one out:
(1) Ginger
(2) Carrot
(3) Potato

(4) Tomato

(5) Not Attempted

39. If in a certain code, ‘COVET’ is written a
FRYHW'’ then how will ‘HIDE’ be written in th:
same language ?

(1) KLEF
(2) KLGH
(3) KLEI

(4) KGEF

(5)  Not Attempted

A “tﬂn 1s facing North direction
135%in anticlock-wi 1

in the clock-wise dj

; He turm
se direction, and then 90

rection. Which directio”

a E?R-qﬁ is he facing now 2
g (1)  North-East
(2)  North
(3) IW-dfram (3) North-West
(4) dfEm (4)  West
(5) ST M =Ed | (5)  Not Attempted
VNATH/G1
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. 1T M0 T Ao s i d snyen % | 41, On selling 17 halla for * 720, ¢ 1
w81 et o 5 b i e
(1) T a5 price of ane hall 1
(2) TS50 ¥ 48
(3 Ts55 oy 250
4 teo (B 155
(5) T S R owawn (4y THO

(5) Nat Attempted

2. TEAS-[28-137 - (15-A)}]|=58 R M xm

£ 42. AS—[28 - 117 - (15 - A = 3R, then the valus
T -20 of xis
@ -19 i
@ 19 @ -9
@ 29 (3 19
4 29

(5) W FE TN =R §
(5] Not Attempterd

3. A TN B3 FET: T 22,500 AN 35,000 FANH, | 43, A and B started a busmness b

v onveshing

7% =R w fE 1 T27,600 FFA TN A B H 7 22.500 and 2 35,000 respectvely. Out of 4
uE ? : total pmﬁt of T 27 600, B's share 1»
(1) 10,800 (1) 10,800
(2) 14,400 (2) T 14,400
(3) 16,800 (3) 16,800
{4 ¥19,200 (4) 19,200
(5) T FE TN Awdl (5) Not Attempted
2 2 X 1 i i {"I L ',";_ in
X 1 3 5 X + ST - . N === then the value of ———= 2
4 X _legaX TY wwmAEm: 44 o = g
y 2 x -y !
10 - 10

.. m =

(1) 9
5

5 @ 3

2 =
5

-5 ) .

(3) a _
= |

-5 o
{4] e - i ‘\ rj_l_ll\"‘-i

3 _ _ (51 NetAlss e

Lol | GH WORK

O T TR SPACE O

VNATH/ G1



Guest
Rectangle


Al 10 H1 AT & gm0 i

;5 '*'-T"IE_'{HETI 168 = HieX ¥, o 3t ) el g

(1) 124t

(2) 17 ®t.

(3) 24

(4) 31

(5) SR E o W |

T e o @ e 12 o o
T A W §?

(1) s%%
(2) a%%
3) 3%%
(4) 9%%

(5) ST el oAl =red |

2750 T Tl | Thed F1 UF wiel Wl €, 5@l 39
20% =151 fird @1 & | a6 393 % 1,600 few o et
f F-dt afer 39 T F TF e il siferd g
£?

AT T BT T | 00

Irt:f:?;l:;;:f;evéé m and 168 M~ IeSpectiyy
then the longer side of the rectangle is .

(1) 12m
(2) 17m
(3) 24m
(4) 31m

(5) Not Attem pted

At what rate of simple interest will a sum
ey doubles itself in 12 years ?

mon
(1) Bi%
o sin
3) 85%
(4) 9%%

(5) Not Attempted

Arun buys a pair of skates at a sale whe
the d@scc}unt given is 20%. If the amount!
pays is ¥ 1,600, then which of the following
the marked price of the pair of skates ?

0 (1) 1,280

1 T128

:2: Z 1,600 (2) 1,600

@) % 1’920 (3) %1,920

4) 2,000 (4) 2,000

5 SW &l ol e | (5) Not Attempted
(
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Choose the ¢
OrTre
(1) humorus ctly spelt word
l3] hl]. moros . l‘if'k
(4 1! . out t}
111“1“] 1S CTTOT t e Pa rt ﬂf ”.
(5 Not Attempted Th'if:-' f there ia no ,,"' arntence whicl
Choose the alter %18 the thi Frar, Your an '_' 1 has an
i - alternative whi rd communicati swer is (4)
e given sentence in :hwh best and | (A} ication | have s :
The accountant took Passive Voi CXpPresses am much suror sent /
customer. the t:!]pq,l““‘ﬁ 0 irpriserd ;
(1) The cheque is tak ¢ from the at receiving 1
h}. the accﬂ‘ﬂntah e r]-D“_I I_"I.IE no anawer
(2) The cheque w;-u customer :I; () (C)
customer by th take 2) (B
(3) Th e acco n from )
= : customer was taI,:lnm“t- the 3 ©
accountan en the [4) N _
H! The chequ t. chﬂque b is} O error
C'UEt;j.me? he had been 1t ¥ 6 Not Attempt
i3] Not A v the acc aken from 1. Fill in pted
| Attempted ountant, the You .IThr: blank with
n the follow1 il ot certa suitabl
of ‘h:;zﬁtquesﬁum the fi I;] sleep SRR Hnl.-::i.mr”""iw:
The rest of th ence are numlrﬁt and the la '[ I walk qu_ wou
and named Pesemenm is spli pted 4y s sﬂ () play ey
- ] I-t i &
o Rﬂ-ar;;a“d S. These I;tn four parts [}? reading
P - negl ay I marn in correct ord 62. Ch empted
q ; ECtE‘d and ﬂ]_ }I' cﬂuﬂtries Er. oose thﬂ
- WOITIE 9 ere are the ; alternativ .
R n continu far meanin ive which
- who ha e to be The g of the u - best ex
S ve had th y sold thei ndernad i xpresses
- fewer wom e benefit of a whi eir old ho iddiom. L
Sg - educati en than m hite eleph use becau:
cation en ant, se 1t wsa
and vocati (1) as
() PQRS ation training e large
gj Q PSR 3) useless
very
{4] RQPS @) coll comiortabile
' t Att
Not ﬁttgm}}tﬂd 63. Fi Emptfd
Change the f {lnd i R Relsiais _
gphZi:h' ollowing sentence into indi IE; s ym of frequent’
ti sai irect return
f ﬁnakesil: 10 his friend, “Look (3) fear
“_] 3 hind }'ﬂ'u"_ ' ogut! There is (4) alarm
hakti told his fri (5) N
th : his friend ot Attem
ere 1s a to IDDI{ out 64 E ptl;‘tt
() Shakti e s;'mke behind him as . Find out the sy
xclal : : i CTLOTLY
suinrise the imed to his friend witl in the following nym of the und
el at there could | 1 T g sentenc erlined word
{3] hind him. e A snake o travel hopefully i €. [y
Ezﬁiﬂg 2 snake behind him, S arrive, P e ly is a better thing tha
@ ed his friend to 100 , Shakt (1) ration: rlruf aureas it an to
Shakti k out wall 15wl
I ; et o labour.
A aaalis Behd hm_fnend that there wa ) positively
(5) Not Att hind him. & l:‘ negligence
empted ) carelessly
(5) NotA .
TSPAC ttempted
ACE FO
R ROUGH WORK
Page 15
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67.

69.

Choose the correct alternative to improve the
underlined part of the following sentence. If no
improvement is required, your answer 18 (4).

Passengers are requested not to sit on the floor.

(1) tonot sit

(2) tonot to sit

(3] requested to sit
[4] No ImpmMmt
(5) Not Attempted

HHE-T I T8 Y FF F .
(1) #Hswasadstd

(3) iﬁ?ﬁaﬁ{m|

4) mTAWARNE

(5) SO TRl o = |

T M A W A i = W
ifir: ST waET = -

(1) =nfem

(2)  StfER

(3) A

(4) &M

(5) IR E & =R |
*mlwaqmﬁaﬁmwﬁ%_
(1)

(2) ©E+H

(3) &F®

(4) TEF

(5) <L E & = |

‘aﬁ@ﬁﬁwﬂéﬁﬁsﬂ%aﬁ’aﬁﬂm‘wﬁ
qﬁzﬁwﬁ:

(1) g1 SRR

@) I I

(3) g STPRS

(4) et SR

70.

T,

T2,

73.

74.

75.

fau T o faared A S ST ¢ 7
(1) pfa sl i e Ea €

(2) TR WA R T

@) = e A A R

(4) el 1 g B @ e

(5) I TEl &1 e |

o e T e WM A, 39 FEd € -
(1) HHHEA

(2) gl

3 f&

(4) FEEiE

(5) IR T A A |

few o fopm famed i =l 1 I BI R 2
(1) e

(2) S=aE

(3) T

4 uEE

(5) mﬂﬂmﬁmﬁl
imﬁﬂ_ﬂw#aﬁﬁaﬁﬁﬁ:%m & .
WIS - i ST

(1) el
(2)  TirER
(3) TR
(4) TIRE

(5) IR T <R

oo’ F AW A T G FEE 39T e
¥

(1) . 3mm

(2) Trsmwm

(3) Ao

(4)  Temm

(5) I E WA

'ﬂﬂ?ﬁﬁmﬁﬂﬂ !ﬂ:ﬂ*aﬂﬁ"{m-ﬂaﬁﬁﬂmm
-

(1) st 390w
(2) Sy Y
(@) et a3

(4) of e T W A

(5) e 7 &1 e |

(5) Eﬁtﬂﬁ'fﬁ-ﬂ'ﬁmﬁl

VNATH/ G1
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76. How many districts are there in Haryana ?
(1) 21 n 2
@ 22 2 22
(3) 23 a2
B R () 24
() W ER | (5)  Not Attempterl
@ m e e (03 73 i) % v 3 llalEleaki T7. Consider the following statements in respeet
A F- v HHR? of National Security Guards [NSG) -
(A} TR T H i WHEATF Yo w1 ) (M) ;‘J{;::f:::‘nm Headquarter of NSG is in
®B) T T e % Frtomd &) (B] NSG comes under the control of Union
ST B -y R e @ g Ministry of Home Affairs
(1)  F==(A) Which of the above statements is/are
correct ?
i (1) () only
@) (A 3 (B) A (2)  (B)only
@) "/ (A) ST () (3)  Both (A) and ()
(5) == E T Ewa (4)  Neither (A) nor (B)
(3) Not Attempted
78. = F fom R vfog g 39 w1 amEem
B H T 7 78. In wl?ich month of the vear, the famous
1 15{1;1;2;{;;!:1 mela is held every vear in
(2 FE= (1) March
(3) e (2) December
(4) wE (3)  October
(5) =O% % o =9 | (4)  February
(5)  Not Attempted
79. HErWd e H efrarn F o e v @ v
™ B 7 79. In the Mahabharata period, which rerm was
(1) =R used for Haryana ?
(1)  Haribanak
PR (2)  Bahudhanyvakya
(3) e (3)  Hariyala
(4) #ETE () Haryanak
(5) T T & A (5) Not Attempted
VNATH/ G1
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80O,

81.

82.

83.

VN

[REICEE RN famm =g #3 % fom ufirad @

q‘:. b - ™
CITHR 90, S, v i ) i Porare e
¥ T wirm A b

(1) ¥ wer

(2} = em

(B)  wm wR

(4) =g T

(5) W & R
Rl R e is o R ——
FsiET WA 2

(1) =i sfs fas

2) & F=

(3) & = =g v
(4) = TE e
(5) =9 el <9 9w |

W-5a | T4 % A ed Wiaia fami = sfuifa
fam s &7

(1 2
(2 3
(3 4
“4) S
(50 =91 @ &A1 =ed |

ﬁmﬁlﬁﬁﬂﬁﬁﬁﬂmqamﬁmqm%?

(1) FrTe 194

() AR
O

@ AW
(5) aefl T

a0.

Bl.

82,

B3,

To promote the ancient Heritage ?f Pill'l-jﬁre‘
two festivals are held every year. ;‘;ﬂt‘ is the
Pinjore Heritage festival’; which is the secongd

one ?

(1) Orange festival
(2) Dates festival

(3) Mango festival
(4} Lemon festival
(5) Not Attempted

Who among the following is the Minister of
Environment, Forests and Wildlife of Haryana
State ?

(1) Shree Anil Vij

(2) Shree Kanwar Pal

(3) Shree Mool Chand Sharma
() Shree Dushvant Chautala
(3) Not Attempted

Mukhya Mantri Pragatisheel Samman Yojana
is to motivate the progressive farmers foi
adopting best agriculture practices in how
many categories of land holding 2

1 2
(2) 3
3) 4
(4) 5
(5)  Not Attempted

Which amongst the following j
of Haryvang owing is the State Tre.

(1) Banyan Tree
(2)  Sacreq Fig
B Mango Tree
4)  Sal Tyee

15)

Not Alte mpted

m fere zen=1/ SPACE FOR ROUGH woRrk
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84. Tr=ifafas sl w fimw wifo ; 84. Consider the following statements :
(A) TEEE IfeTH sy from (A) Rohtak has a Police Commissionerate
(B) Hrg § ofer ST fem located there. o
?Qﬂ"ﬁ 9w 3 t (B) Sonipat has a Police Commissionerate
=1/ H FUA W /% ? located there.
(1) o (A) Which of the above statements is/are
(2) e (B) ocarrect ?
o (1) (A) only
3) (A) 3R
[4]' ( ]- [B? A 2)  (B)only
(4 T (A) T (B) (3) Both (A) and (B)
(5) 3T & wed (4)  Neither (A) nor (B)
(5] Not Attempted
85. Toa 97 2022-23 & forg, 2famn w2 4§ @A ¥
fem &1 =% %1 fife wfowra ameifen femm T 82 | 85, For the financial year 2022-23, what is the
(1)  14.2% percentage of the total expenditure allocated
tz] 5.2% tm’-’ards Hﬂﬂlth in thﬂ Hﬂn’aﬂa State 7
(3) 8.5% (1) 14.2%
4) 5.8% (2 6.2%
(5) I TE & = S
4) 5.8%
86. et e e e 7o (5 NotAttempted
" 2 SR TR NI B6. Consider the following statements @
®) : o i s [A) g(;?ll;?.at and Jhajjar share border with
I H | w8 A wEE/E? (B] Rohtak does not share border with Delhi.
(1) = (A) Which of the above statements is/are
2 A correct ?
(B)
(1) (A)only
(3 (A) 30T (B) = (2] (B)only
(4) Fd(A) IR (B) (3) Both (A) and (B)
(5) I TE & e | (4)  Neither (A) nor (B)
(5) Not Attempted
87, U foRE T & saia g7
(1) T 87. Neemrana comes under which State ?
[2; Bﬁ'qTU'JT I 1] Rﬂj asthan
; (2) Haryana
(3 (3)  Punjab
(4) THES (4) Uttarakhand
(5) IR & | (5) Not Attempted

VNATH/G1
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Rajya gabha seats does Haryana

5 37 <74 |
(5) e il _ 5o SPACE FOR ROUGH WORK

How marny
8 B88.
8. efamon o & T w @ Fel WE €7 have ?
(1) s 1 8
2 7 (2) 7
2] 6 (3) 5]
4 s ) 5
(5) = =& & =mwa (5) Nt Attempted
s :
9. Frfafes HYAT T faEr Fifen 89 consider the following statements
[AJ ﬁ]ww‘ ﬁ%i . {A] Nada Sﬂhib‘ Gumdwﬂrﬂ is situated in
B) == Ambala.
S & ﬁE-cﬁqIEa TR FR 6 & A W @ Nada Sahib Gurudwara is situated on
(1)  Fae R/ARL LUAE the bank of river Ghaggar.
o (A) Which of the above statements is/are
(3 e o correct ?
) (A) 3R (B) =i (1) (A) only
(4 78 (a) sk (p) (2) (B)only
(5) W = & =my (3) Both (A)and (B)
g ; (4) Neither (A) nor (B)
O. s et % g et e vt fem &2 (5) NotAttempted
(1) e ' .
(2) TEm 90. In which district is the Indian National
3 = Defence University located ?
) ISR (1] Panchkula
(4) M= (2) Gurugram
(5) ST S =9ea) (3) Faridabad
(4] Karnal
91. gfaw mith stfir wwita witw Redem s ¥ R ) N
e HE?
1 91. Indira Gandhi Super Thermal Power Project
(1) ==K is situated in which district of Haryana ?
(2) fawm (1)  Jhajjar
2 :
o o 8 =
(4) 4) Jind
(5)  FCTE & A | (5)  Not Attempted
yfag e’ 92. i .
2. A =yt fRd = @ fag ¢ E;;:It??ﬂ Chaudhary is well known for which
1y (1) Judo
mﬁgﬁ 2) Kabaddi
) ES; Wiesc:::ln
B
(3) W (4)  Archery
(4) die (5)  NotAttempted
Page 20
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Fresfefaa ¥ 2 fFe wftamn =t i 3 wowf g 4§
= wen |17

(1) wE=T foe

(2) et <

(3) Ul

(4) TR AR

(5) I ol e |
e e ot frem #2
(y e

2 &

(3] Te=T8

(4) TEdE

(5) SEUTE & = |

ﬁﬁﬁﬁf’@ﬁﬁ'@zﬁmﬂﬁaﬁﬂﬁﬂ—iﬁﬁﬁﬁﬁﬂaﬁ
ST W TS €2

(1) oA

(2) @

3

(4) T

(5) SECTE & A |
RIS HETIE’ & LA I € 7
(1) =M

(2) FHIIRE

(3) e arcHis

(4) el de=d

(5) ST o e |

Frfafag § § FF ST F THE FIW FEH
forcti H O TR TE €7

(1) fa
(2) EHd
(3) e
@

(5) 0 T & |

TH/G1

931.

94,

a5.

o7.

2% 1dl % Terg zane | SPACE FOR ROUGH

Who amongst the following did not play for
Haryana in Ranji Trophy ?

(1)  Maninder Singh
()  Kapil Dev

(3)  Rajinder Goel
(4) Sarkar Talwar
(5)  Not Attempted

In which district is Narnaul situated ?
(1) Jind

(2) Kaithal

(3} Mahendragarh

(4) Rohtak

(5] Not Attempted

Which of the following dance forms of Haryana
is associated with Mewati tribe ?

(1) Dhamal
(2) Ratvai
(3) Phag

(4) Gugga

(5) NotAttempted

Who was the author of epic Mahabharata’ ?
(1) Magh

(2) Kalidas

(3) Maharishi Valmiki

(4) Maharishi Vedvyasa

(5) Not Attempted

Which one of the following is not amongst the
major cotton growing districts of Haryana ?

(1) Sirsa

(2) Sonipat

(3) Ambala

(4) Rewarl

(5) Not Attempted
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e
WTWW (St wm <t ) s Frefefiaa
Fifom .

(A) Eﬁijn:ﬂ.ﬁﬁ :

- e &) W e S @A
ﬁ??ﬁ@ﬁﬁm#ﬁmﬁtﬁ

RS E

(1) A

% e (B)

[3) {h] aﬂT[B]ﬁﬁf

(4) =4 (a) AR (B)

) 3R 7 &

;Sf‘g\l mﬂmﬁﬁmqﬁ“%j

(1) =g

(2) wfean

(3) =

(£ L

(5) S E & W |

: gﬁmmﬁﬂfsmﬁfamga?ﬁmmﬂwmmﬁ

1 S © 2

(1) =

2 =

3 W

4) T

ESJ qu’fémﬁﬁm

.o00O"-

99,

g8. Consider

100,

the following statements about Gross
ic Product (GSDP) :

omest
D more than that of

(A) GasDP of Haryana is
Bihar.
GSDPF o

Haryana. '
Which of the above statements isfare

correct ?

jab i that
(B) f Punjab is more than that of

(1)  (A)only

@ (B)only

(3) Both (A) and (B)

(4)  Neither (A) nor (B)
(5) Not Attempted

‘Ottw’ barrage is on which river in Haryana 7

[11 Yamuna

(2) Sahiba

(3) Tangri

(4) Ghaggar

(5) Not Attempted

Boojali, an ornament is worn in which part of
the body by women in Haryana ?

(1) Ears

(2) Forehead

(3) Foot

(4) Nose

(9)  Not Attempted
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